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An architecture for adaptive task planning in support of IoT-based 

machine learning applications for disaster scenarios
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•
� 	�4 <�= ��$� (4�� >��:�  �?=�"� @��#�� � A+��0�� ���� )IoT(  2B�� ���# �� 
� /C �4�
��6�� ��D�=� EF6� 
����4 � IoT �# A+��0�� @.�� 2(+� �(� � �1��G� 	�4 ���� -�
H# �
 ��G�� (00� -� �� (��# I=�� E�(0J �#���+  

) �(� K�L��(  8�.� (+��.

•N� �1��G���L L� E�� �4��#
�� L��+ �# E�� �
�� �� 	�4 ��D�=� IoT �# 
�O �+���(P 	H�
 ���+�# (+�� �� N� A�
���� 
�
 �# 
�O @!�:� Q�G+� (04�. 	�4 �+��+ <��
� E�0J 2-��4��
�0= 	�4 �3?� /�D�4�+ @3��� L� @��=� �6!+� -���4 

/�(# E��+�= )UAV( �4 2 �# /��01 2<�R� 	�4������4 /�(# 2E��+�= � �D�� 	�4
�:0= IoT (0�:4 �� �# B4 
	� �1��G� L� 2�4
�:0= L� �6�P 	�4 E�#
�� 2-F�O��� 2�4 E���3�� �� A6?�	�4 ��S -��T+ � 	�4 -��� (0���4 
� 

@.�� (00� -� . E�� �4 B�:�= 
� ����� �# A�!��� 	��# A���U L� E�,�� V=�� /��(04� 
� 	�4��
�0= :+�-+� �� 	��W# 

-
�?O �# 
�� ����� (+� �(� . �!+ 	�4������4 /�(# E��+�= 
� IoT �#
�O 2-6� � 
� V=�� �# �
P�� �# 
�O 2X�$ 
(+��� -� 
� �(0�C �� ��:P�# ��� ���L �4 /C @�:+��� <�
� 2/��� 2��?Y# � 	L�= �0�Y#  ��6�1 �  ��($ ��(�� �  �G+ 

(�(P � ��P�� �
 (+
��.
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•B4 	�4��3��
 H�����  � B4 	�4��3��
 2�(� K�L�� �� /�3�� ��G�� N� �3?� 	� �?, L� 	�4 ��D�=� IoT2 	�4������4 /�(# 
2E��+�= �� �# 
�O -6� 2�4  �#
 	��# N� Z���= 
�(��� � @#�[ \�?]� �
 B4��� 2(00� B4 /�0�� ��P� (+
��. -$�# L� �4 /C �#  

	�
 �,�:� 	H�
 ���+�# A�
���� 8�]
+����� H���� (00� -�  � -$�# �D�� �# 	�
 	�4 @U ��
 -4��C L� A�W= @���1 ���H� 
(00� -� . -$�# �D�� �# 	�
 �,�:� 	L�=(0�+��� 	�4 B�� -6��1(0J 	��# �6#�!� N������� �# 	�4 A�
���� �(�^�� �
 ���!�  

2_
H# 
� <�O 	�4 �
�� -+��L -+`�O 
� 
�aU 	�4 A:3� b�"� H���� (+� ����. 

•/��(0:��+ �,�!� N� 	
��
� 	��# A�6#�[ 	H�
 ���+�# 	�4 �3?� N���#
 APRON )Architecture Programmability

of Robotic Networks(  ��Y0��� ����2(+� � c���+ ��,�� �(� �d�
� 
� )Ventrella et al., 2019( �
 �# N� -#��L
� �� \��1  
� N� <�R� -6�1 L� ��#
�� AI 	��# UAV�4 �
=�� ����(+�. E�� 	
��
� A�6#�[ 	H�
 ���+�# 	�4 QH�+�3� ;6�*� ���
� 
� 

�,�:� 	��P� A�
���� UAV�4 �� �D�� @���1 �(� K�L�� -0�?� �# �?, �
 E3�� �L�= -�.

• APRON N� ��` 	
�H�� Q�+ A=� �� E�# @��1 B�:�= ) N���#
(  )�#/��01 <�R� ROS(  � �4 ���+�# 	��#
�� 
�H�� Q�+ IoT  

��[ ���� -�. 

•	
��
� APRON @��� 	�4 QH�+�3� A���(� �3?� 2N�=W� (0+��  
�T+ 2�3?� 2���
� �  ��6�1 <��0� (0+�� �;� 
2���:�4 � E�0^�4 	�4 QH�+�3� X�$ �,�:� 	��P� A�
���� 8�]
+����� A=�. 
� 2A��Y+ N� I#�
 NorthBound �
 	��#  

���+�#/�:��+ 	��#
�� B4��� (0� -�.  
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/��(0:��+  E�� �,�!� -$�# L� 	�4 ���+�# 	��#
�� �� 
� /C APRON (+��� -� �
�� ���F�=� 
��[ ���� �
 ;�7�� ����(+�.  
�J��� �# Q�Y,� L� �
�� ���F�=� L� V=�� �# 2�
P�� >�
 /���� 
� K[�� ��#
�� ����:�	�� �
��. @���: V=�� �# ��W# � 2�
P�� 
I=�� 	�4������4 /�(# E��+�= )UAV( (0+��2 � B�:�=	�4 @�U � @!+ (0���4 � ��#
��  �1WO� � 	
��0�	�4 -O�?�
� 

)ICT( �� 
� ��4 E���4 -�/��� L� 	
��
� APRON ��Y# A:P.

;,�( �,�:�:

 �# �P�� �# 	� �1��G� L� �4 ��D�=� �� 	� �1��G� L� 	�4
�� ����� -��?=�"� �
 �# 	�
 N� 
��= -��?=�"� �?, �6*�� 

2(00� -� �# /��01 2<�R� B�:�= <��0� -0��L )GCS( 2 /��(0:��+ �,�:� 	H�
 /��# �F�h� �
 �#/��01 �,�:� A���(� 3?�� 
�?, ;��
� ����(+� �� E�D+��� /��L Q���� N� �1��G� L� ;��h� <�"� �(� �
 I=�� i04��4 /��� �j�� 
�# �# 	�
 LA$�=�� 

2-=�=� �# @[�(U (+�=
 -�.

B�T0� 
�# -��?=�"� �?, 	H�
 ���+�# @#�[ @��� �� (0�C�� -67� A=�:  

) 1(  	��P� @������ 
�# �(� ���� �# 	�
 @���1 2�?,  

) 2(  <�!�+� -F��h� �� /��L 	��P� �
�� 
�T�+� �4 /C �# 
�O -YP�� @#�[ `�# 2A=� �# ��� N� �D�� �� �# <���U� ���L /C�
 

� /��L ����� 	�� @��3� (0� -�.
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)( A�7�$	�4  �P�Y� �F�h�:  

	��# @U �,�:� );,�(2 (��# �# �� <��= �P�� ���: �J -+��L ��6*� k=�0� A=� ) B4 L� ��D�=� EF6� ����4 �# GCS � B4 
� 
/��� 	�4 ��� EF6� ����4( 2 � �F�h� (��# �# �G�  �P�Y� l(0� @U ��
 �(� �d�
� L� N� QH�+�3� 	
��L�= B�T0���$ 
�<� ���F�=� 

(0� -� �� �F�h� �(� ���� �
 -��D04 �� ��� /�#H�� )host( /C �# N� �+��=C 2(=
 -�  �P�Y� (4� -�. �#/��01 2m�� ��� 
��(
� I=��� 	�4
�� ;7 �(� � 
� <�U ��P� 
� @� B�:�= �?, B�T0� ��� -�.

•�J -+��L �� N� 
�� �
 �# N� @��1 	L�� �D��  �P�Y� -� lB�4�

•�� E�� @n� �
 �# �G� @!�0� lB�0� -�

•Z� L� N� �6U�� -#��L
� 
� �
�� 
�#�= ��$��  �P�Y� �� �# �P�� �# <(� �(� �d�
� 
� �*# 4 �?=�"� -�2��� <���U� 
E��a� -��
�� 
� >�
 ��6*� �?=�"� ��� -�. @3� 1 -,�R� L� ���+�# 	
�� �= @��1 �
 /��+ (4� -�.
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 @3�1- -� <�?+� E��+�= /�(# 	������4 �= I=�� �� A�
��p� 	H�
 ���+�# 	�4��:� L� 	� �+��+�� �� (+
(00� @��3� �
 ��$ ;��h� .(0� <��
�� �
 -6� 
�# �� (4� -� q
 �4 ��� E�# 
�  �P�Y� ;��h� .0:��+ L� /��(

� ���F�=� 
�� >��� �  �P�Y� (+�
 /��� E��
 	��# E��+�= /�(# 	������4 (0J �# I!� @3� E�� ��� 2(+��

 	���� ���!� /����APRON  �
(+��� ����LC 	(
#  ��#�G� 
�.
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•Z�= /��(0:��+ �# @�.F� rHP E��*� �(0+L 
�# � �]$ �
 ;�7�� ����(+� ) �*# 4 �,�!�( 2 �� L� N� <(� �3?� 
/�:3P 	��# -+�?���� L�  
�T+ � <��0�  ��6�1 
� -,�U �� 	�4 A,�U �3?� @��3� 2(0#�� -� F�=���� (0� -�.

• �� E��*� N� @3� N��H+ �# I=��� ��(
� ;��h� 
� N� A�
���� �
 �?=�"� 2(0� -� �J 
� ;7 0��#( � �J 
� 
��P�.

• E�0J �(00��
�C�#	� (+��� -� I=�� ���+�#/�:��+ 
�H�� Q�+ 	��# E��
� ���F�=� L� �4 N� L� 	�4������4 /�(# 
E��+�= � E�D+��� /��L ;7 ) B4 /��L 
�T�+� � B4 /��L ��P�(  	��# �4 
�� 	
�3�=� ���.

• E���#�0# E�0J -��1WO� (0+��� -� 	��# -U��O -��4 �(00� <��0� �� �# 	�4 ���+�# X�$ 
��L�= +�� -�( ) ����4 �#  

APRON API E�� �,�!�(  �
�� ���F�=� 
��[ (+���.  
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��
� APRON 	��Y0���: 

/��(0:��+ ��` -����(� 	��Y0��� ��$ �
 
� /��� @��1 B�:�= ) 
� E����( 2 �# /��01 2<�R� @��1 B�:�= N���#
  

)ROS( 2 � ���+�# 	��#
�� IoT ) 
� `�#(  �d�
� ����(+�. @3� 2 
��$�= -����(� �
 /��+ (4� -� �� 	�4 B:�+�3� /C  
/�3�� ��G�� �  
�T+ �# <�.�� 2�3?� E��*� -#��$ ��� � N0�, � 	H�
 ���+�# �(G� A�
���� L� \��O N� 0�\] 

�(00� <��0� @#�[ B�T0� �
 B4��� �
�C -�. 

���+�# (+��� -� L� API �(� �d�
� 	��# -�
�F= /��� \]0� E�� 2�4 �(00� <��0� \�?]� �# 	�4 <(� A:3� �*�2;6 � 
E�0^�4 -�
�F= /��� \]0� 	H�
 ���+�# 2A�
���� 
� N� (� H����� �� 2�(� K�L�� ���F�=� (0�.



 e�f����
:� @U 	��# �,�!� 	��Y0��� @U�,�:

10

 @3�2-  	
��
�APRON : ���+�# E�# -����(� ��` N�IoT  �#  
�T+ � ��G�� 	��# @��1 B�:�= �
-#��$ E��*� 	��# 2�3?� <�.�� 	H�
 ���+�# s�?]+� 	��# � �4)�
�#�� (� \]0� ��=� �# 
��<��0 �(00�

A=� B�T0� @#�[.



 e�f����
:� @U 	��# �,�!� 	��Y0��� @U�,�:

11

c���+ -#��L
�: 

•/��(0:��+ ��36�1 @U ��
 ��$ �
 �# �
=�� N� L�= ��?� ��(��
 
�"� C + + �� 
��[ �# ��P� 
� �4 E���� 2A=� 
-#��L
� ����(+�.  

•
� <�O E�� 2-#��L
� /��(0:��+ N� �3?� L� /����+ 	�4������4 /�(# E��+�= �!�:� �(� 	��# Q�G+� �N 2A�
���� 

@3��� L� 	� �1��G� L�  ���([� >
�F= �(� ���� I=�� GCS �
 
� �T+ (0����. 

•-��4 �+��+ L� E��  ���([� (+��� -� 	�4 A�
[�� -������nP 	��# -=��=� �# 
�T0� ;�� �!]0� L� \��O �E�#
� � 
/����3�� 2(��# <�=
� -��4 /���P �� 	��# E��
� @"� /��(+��L�# 
� V=�� �# �
P�� t�� ���� (4��$ (�. 

•�4 N� L� 	�4������4 /�(# E��+�= �4 @�
,�
��=� �
 A���
� (0� -� � -
= (0� -� �4 /C �
 ��P� (0�. 
� E�1 <�U 
u*�� ��� -� �� ��C  �P�Y� �# �?=�"� �+��=C 	� 	
��f A=� �� ��$. 

•E�� 
�(!� �# ���F�=� L� <(� �3?� /�:3P /��(0:��+ E��*� ��L ��� -� � v1�#  �P�Y� ;��h� 
� 6#��� ��� -�.

•  	��# E�� 2
�T0� Q��� @���1 	��# @��3� 	�4
�� �(� ���� X�.�$� 
� E��� ����� /��L E3�� 	
�� B4 0� -�(0. 
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•/��(0:��+ �,�!� �� 
�� �(�1 Q�G+� ����(+�:

 <�� �30�� 	
��
� /���
�H�� ��$ �
 	��# A���(� ��D�=� IoT �# @�.F� t�� ����(+� � N� B��
�D,� 	L�= �0�Y# �
 
	��# 	H�
 ���+�# �(G� 2
�� 
� �
�� N� ��D�=� IoT �� N� A:3� �
 �#�G� 2(0� -� �d�
� ����(+�.  

Q�� �30�� /���� N� ���+�# 	��#
�� V=�� �# �
P�� �
 �#/��01 ��#
�� �
�� ���F�=� AI -��
� ����(+� �� L�  ��($  
�3?� 8�]
+����� -=�=� APRON ���F�=� (0� -�. 

•���+�# 	��#
�� /���� 	��# -��=�0� 	�4�(7 (�,�� �(� I=�� �4 /�:+� -U��O A=� �(�.

•�# 
�O 2X�$ ���+�# >L���� -��7 �?, E�� �,�!� L� 	�4 N�03� 	�4 �3?� -?.1 \��1 ) DNN�4(  	��# 
	(0# �!?O  �7 -,�=
� L� /����+ 	�4������4 /�(# E��+�= ���F�=� (0� -� � �# E��
� A�
[�� 7	�( /�:+� 

N�� (0� -�. 

•L� �3���G+C A1�= 	��# 	�4  ��6�1  �G+ 
��:# BY� 2A=� /��(0:��+ �,�!� �# -=
�# � 	
���# ��Y# �L 

	�4 -�x�� 	������ -,�!�+� )Transfer Learning( �# 
�T0� �4�� /��L >L��C � ���H�� A[� 	(0# �!?O  
) 	�(7 /�:+�/ ��S /�:+�(  ��$����(+�.  
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•	
��
� �d�
� �(� 
� �,�!� �# N� �
�C IP L��+ �
�(+ � L� E�� 2�
 	�4 -�=�� �+��(0J � b�"� 	
��
� TCP / IP�
 
�# z
� ��# -�+.  

•E�0^�4 	
��
� E�� �,�!� 
`�(� � @#�[ <�.�� A=�2 L� E�� �
 (+��� -� �# �D�� 	�4�,��0� �(� ;��
� I=�� �#
�� 

>��:� (#��. 
�T0� /��(0:��+ L� 2�,��0� �,��0� �3?�	L�= �(� ;��
� I=�� 
�H�� Q�+ )SDN(  2A:�+ �36# �,��0� 
�
�$L�# A=�.

•@3� 3 �� A�H� -67� APRON �
 /��+ (4� -�: ) 1( V=�� 	�]$ 2�j�� ) 2( E��*� 	�]$ \�[�|



 e�f����
:� @U 	��# �,�!� 	��Y0��� @U�,�:

14

 @3�3- P�Y� 	H�
 ���+�# 	�Y�=��= E���3��H+ L� ���F�=� �# ���+�# ��36�1 �:��!��F�h�  �  .
/��+ �4
����+ Q�G+� Q�D04 ���
 A=� L� ;��h� (7
� �(04�500 ;6�*� I���� 
� A=� 
��  :

)a ( 2 E��+�= /�(# 	�4������4 ��(
�)b ( 2 
�� �67��)c (��� -#��$ (7
�.
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•E�� �,�!� N� ��#
�� -��?=�"� �?, (�(P �
 �d�
� (4� -� �� �# ���F�=� L� B��
�D,� 	�4 	������ ���2-0� 
��[ �# 
u�*�� 
�aU /�:+� 
� 	�4��
�0= �
P�� A=�. 	��# A1�= /(��*# �#  �?=�"� � E��a� A�6#�[ /�0��O� 

<�?[ @#�[ 2���+�# /��(0:��+ E�0^�4 N� 	
��
� A���(� �
 >��:� ����(+� �� 8(4 /C 	H�
 ���+�# ��(G 
;��h� 
� 
�aU 	�4 �3?� �?, �# �,�J �(��� �(� A=� . E�0J 	� ��` L� <(� ;7 �3?� /�:3P �#	� E��*� 

��(
� 2;��h� ;7 � �� 
� ��P� ���F�=� (0� -�.

•2E���#�0# ���+�# 	��#
�� (+��� -� ��#
�� -+C �4 ��D�=� IoT2 � E�D+��� /��L ;7 ) B4 /��L 
�T�+� � B4 /��L 
��P�(  	��# �4 �F�h� ��P� �(� �� <�"� �(� �# �?, �3?� �
 E��
� (0�. c���+ /���� /��+ (4� -� �� J�+�D E�� 
��` A���(� N� 
�H#� �j�� 	��# A�6#�[ 	H�
 ���+�# A=��= �,�:� 	H�
 ���+�# �(G� A�
���� 	��# 4� ��D�=� 

IoT �!�:� 
� 	�4 I�"� 	(0# �3?� �(� �# �,�J �(��� �(� A=� . ��W1 �# 2E�� /��L >L���� �(7 �L-+�  
�4�� (#�� -� �� Z���= -67� 
� <�U ��P� 2A=� ���L ���+�# 
� 	`�# /C (+��� -� L� -��4 -�x�� ��# ��Y#	
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